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K) Consider the following relation R(A.B.C,D.E.F) with a set of functional dependencies: 
F={A’ BC, B ’ CD, D ’ EF, BC ’ AG, ABG ’ DE} 

I) 

i. Find the closure of each determinant. 
i. Find the candidate key. 
Given R(A, B, C, D, E, F) with FDs 
{A’C,B ’E, AB ’ C, C’D, E F}. 
Normalize R up to BCNF. Is it preserving dependency? 

Part-Ill 

Only Long Answer Type Questions (Answer Any Two out of Four) 
Consider the following relations: 
PERSON(P_id, F_name, L_name, Occupation, Salary, City) 
ORDER(O_id, P_id, Item, Quantity, Price, Order_date) 

The Primary Keys are P_id and O_id respectively. 
Express the following queries in SQL. 
i. Find the person's name and city whose name starts with S. 

ii. 
ii. Find the name of the person who has ordered in the same date. 

Find the name of the person who hasn't ordered any item. 
iv. Find the highest ordered item. 

Design a complete database for a university system, including ER diagrams, schema, 
and SQL queries for student registration, course management, and grade calculation. 
What is conflict and view serializability. Consider the following non serial schedule: 

R1(0), R2(Y), W3(Z), w2(Y), w2(X), R1(Z), W3(Y), w2(X) 

Check for conflict and view serializability. 

Why do we require 2PL over lock-based protocol? How a deadlock is possible in 2PL. 
Explain different deadlock detection and prevention techniques. 
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